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XTERNAL = GENERAL, NONEXTERNAL=LONG_RELATIVE)

BEGIN

i
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e

i COPYRIGHT ‘f’ 1978, 1980, 1982, 1984 BY

i= DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS.
{* ALL RIGHTS RESERVED.

i THIS SOFTWARE IS FURNISHED UNDER A LICENSE
i= ONLY IN ACCORDANCE WITH THE TERMS OF H
i* INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS §

is COPIES THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAILABLE TO ANY
is OTHER PERSON. NO TITLE TO AND OWNERSHIP OF THE SOFTWARE IS HEREBY

W
*
W
]
*
]
]
*
*
]
i  TRANSFERRED. .
*
*
*
*
&
]
*
*

AND MAY BE USED AND COPIED
SUCH LICENSE AND WITH THE
HIS SOFTWARE OR ANY OTHER
gﬂl

i*
:* THE INFORMATION IN THIS SOFTWARE IS SUBJECT TO CHANGE WITHOUT NOTICE

t* AND SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT
!* CORPORATION.

‘w

'* DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY OF ITS

;: SOFTWARE ON EQUIPMENT WHICH IS NOT SUPPLIED BY DIGITAL.

e
itttt'tttttttltttttttttt'tttttttt'ttt'ttt't"t'ttt'itt!tttttttt't'tt!t'it'tt

144
5 FACILITY: SET Command

g ABSTRACT:
% This module implements the DCL command SET DEVICE.
g ENVIRONMENT :

g VAX/VMS operating system, user mode

g AUTHOR: Gerry Smith 23-Feb-1983
g Modified by:

i V04=-001 AEW0006 Anne E. Warner 05-Sep=1984
- Make changes in routine SETSERVED so that MSCP served
; devices cannot be reserved.

1

i

i

|

]

i

i

v03-011 AEW0005 Anne E. VWarner 28-Aug-1984
Change the check of the reference count from 2 to 1
before trying to SET DEV/NOSPOOL. This is to insure
that there are no open files or second channels to the
device. This change is in routine SETNOSPOOL.

v03-010 AEW0004 Anne E. Warner 10-Aug-1984
Add a check in SETPROT that if the device is unowned
and has no ACL present to require SYSPRV before its

0 8%2:2
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protection can be changed.

v03-009 AEW0003 Anne E. Warner g
Add the error message sot ntcpnottd for tho ET DEV/SER
return status is ss$ _devofFfline. is message is much
To:a gloor to tell the user that the server code is not
oade

v03-008 AEUOOOZ Anne E. Warner 2=A ’-1984
’ : out code concerning the /NOWRITE and CONTROLLER
quol fiers of SET DEVICE/SERVED. These qualifiers are
cgrkongor legal qualifiers but the code remains for future

v03-007 AEW0001 e E. Warner 25=Jul=1984
Add sonit{ ghocks 1n SETSERVED for SET DEVICE/SERVED.
Replace cli$_ivdevtype error message with set$_invdev
error message which explains what happened betfer.

v03-006 DAS0001 David Solomon 09=-Jul=1984
Fix truncation errors; make nonexternal refs LONG_RELATIVE.

v03-005 ROWO0342 h 0. Weber 10=-APR=1984
Add SET DEVICE I[NO DIAGNOSTIC. to shutdoun orts for

class/port devices where running the device-local diagnostics
)

inteacts adversely with normal host polling functions.

v03-004 LMPO221 Mark Pilant, 10-Apr-1984 12:22
Chanao UCBSL OUNUlC to ORBSL OHNER and UCBSH VPROT to

v03-003 PCGO001 Peter George 30-Mar-1984
Add SET DEVICE/SER EDINOURITEICONTROLLERzA.

v03-002 TCMO001 Trud Matthews 19-Aug-1983
Set DEVSV_CLG bit on SET DEVICE/DUAL_PORT command.

v03-001 GASO112 29-Mar-1983
Remove references to old CLI interface.

Page ‘1§‘
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! Include files

'

i

i

% RARY *SYSSLIBRARY:L1B';

18 ! VAX/VM
EQUIRE *SRCS:SHOWDEF'; s o

|
; Define bit settings for the flags longword

MACRO Sy L
setSv_log
setSv_availset
setSv_avail
setSv_dualset
setSv_dual
setSv_errorset
setSv_error
set$Sv_spool
set$v_nospool
setSv_prot
set$v_uic
setSv_nowrite
set$v_diagset
set$v_diag

NN
T " % % % % S S TS ST T|STSTss
WVASS NN = O NS LN = O
T % % % S % % S S S S| S STTS

D ol e ol e e i oD ot el b e

=l=l=lela]
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BES % % S % % % S S S S BN
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D e e el el

Define the Linkages for the routines to lock and unlock
as well as allocate and deallocate non-paged pool.

Memimime=
=

NKAGE
10LOCK = JSB (RE

6

NOP R1-R3 d
ALLO = JSB (REG
REG
REG

<

<

. OS)O

4 . Ré&
.2.3.‘.5):

e

4)
(1
}.
2):
(3
0)
(1

R
R
RO
R
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36 AX=11 Blis!-
4 CLIUTL.SRCIJS

™M

fo

common definitions

! SHOW common definitions

/L0G
/CNOJAVAILABLE
/CNOJDUAL _PORT
/CNOJERROR_LOG
/SPOOL

/NOSPOOL

SET PROT/DEVICE
vic scttexplicitly

/NOWRIT
/[NOIDIAGNOSTIC

the 1/0 database,

R4 = process PCB
estroyed

R1 = size (on input)
R1 = size of block

= address of block
. RS destroyed
= address of block
1-R5 destroyed
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g Table of contents

FORWARD ROUTINE
setSdevice : NOVALUE,
setbits
sotspoo(.
setnospool ,
setprot,
setserved,
setgetportname;

]
; External routines

EXTERNAL ROUTINE
tran_queue,
get_prot : NOVALUE,
parse_uic,
oxgona prot : NOVALUE,
LibScvE_dtb,
cliSget_value,
cliSpresent,
exeSalononpaged : ALLO,
exe$Sdeanonpaged : DEALLO,
sch$iolockw : 10LOCK,
sch$iounlock : 10LOCK,
mscpS$addunit;

(]
E Externai references

EXTERNAL
ctlSgq_procpriv : $BBLOCKLS],
ctiSgl_pch : REF $BBLOCK,
ctiSgl_ccbbase;

t
; Declare some shared messages

$SHR_MSGDEF (SET,119,LOCAL,
(invquaval,

i
; Declare Literals defined elsewhere

EXTER LITERAL
set$_writeerr,
set$_devsetl,
set$_devset?,
set$_devpset,
set$_invdev,
set$_spooled
sct&,nscpnot[d.
set$_notugport,

li-ieo-ione 09:50:54

error));

P e e - -

AX=11 Bliss=-32 V‘.O-?‘;
CLIUTL.SRCJSETDEVICE.BS32;2

Main ule of SET DEVICE

Set device characteristics

Make 2 device spooled

Make a device un-spooled

Set device protection and ownership
MSCP serve 3 device

Given a device determine the device
name of its port

Convert ingut name to queue name
Convert ASCII protection to binary
Convert ASCII UIC to lLongword
Convert binary prot to ASCII
Convert ASCII to binary

Get xaluc from CLI

See if qualifier is present

Get 3 chunk of non-paged pool
Deallocate non-paged poo

Lock the 1/0 database for write
Unlock the 1/0 database

Alloc and fill in UCB for MSCP server

Process privilege mask
Address of process P(B

! Beginning of channel control blocks

! Error nodifging device
! characteris

ic set

Device ?rogocti?n set

Device is invalid for requested operation
Device spooled

MSCP-Server godc not loaded

Device doesn't have a UNIBUS/QBUS port
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i
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! Qualifier explicitly negated
! Qualifier explicitly present

w
288338 %
e e v S Y

cliS$_devnotfor, ! Dovicc not mounted foreign
clis_ dcvnotsfl. ! Device not spooled
cLiS_devalsp ! Devi ﬁ' # roady spooled
cli$"ab ! Qualifier absent

cli$ n

cliS_p
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CLIUTL.SRCJSETDEVICE.B32;2

v&‘-’SoF‘ ieiage :a8:a

1 GLOBAL ROUTINE set$Sdevice (dummy) : NOVALUE =
BEGIN

lee
; Functional description

This is the routine for the SET DEVICE command. It is called

v W-OOOONOU!J‘W-'OWNOMJ'W—’OW

FOF OF OF SF SF 53 3 SF 5 uw.aa_-.a_..ad_a_a.a

F 3

OO NO WSS = O O 0O ~NO N 8 WiV = O 0 00

0000000000000 0000000000000000000000O0OOOOOOOOO

A LA TA PR PR AT PR LA PR LA T R PR PR PR TR TR P TR PR R R LR R LA LR T TR T P T P P P PR L T P T PR T P P TR T T T T T Y TR LA LR T TR T T,

VIVAWVAWAWVAWVIWVAIWVAIWA

]
! from the SET command processor, and sets certain characteristics
} : of devices.
1 i Inputs
} ; None
1 i Outputs
1 ! None
1 ]
1 ! - e e e
1
BUILTIN
ACTUALCOUNT;
LDCAL
Status return
uic : VOLATI UIC for device protection
prot_mask : uoﬁo VOLATILE, Mask to shou what protections changed
new_prot : WORD VOLATILE Nou roto tions to set

result prot : WORD VOLATfLE.
dev_desc : $BBLOCK[dsc$c_s_bln],
que_desc : $BBLOCK[dsc$c_s_bln

uic desc : $BBLOCK dsESc s bln
intdev_desc : sga oCckCdsc$e_s_blnd,

flags : $8BLOC
info_desc : VEC
info_ block :

fntcui uéng‘
v

NITJAL(D)I
LOCéEfZJ.

fosb : VECtOR WORD)
dev string
’tr ng :
orgt st : VECT
cont_ desc : $88
control ler : l
Bort-stting Loy
port_string :
port_chan ? WOR

Uﬂlr' -—l‘ ﬂﬁ.

t_dyndesc (dev_desc);
t_dyndesc(q dosc).
dyndesc(uic_desc);
“dyndesc(intdev dosc)
“dyndesc(cont_desc);
—dyndesc (port_desc);

iSget_value(XASCID ‘FILE®,

device protection
Dovico descriptor
Queuename descriptor
/OWNER_VIC descriptor

ocscrirtor for intornodiato device

F a? ongword

SGETCHN oscri tor

$GET CHN nfornation block
1/70 channel

Intermediate device 1/0 channel

1/0 status block

Translated string for spooled dev
Translated string for que name

SCHKRNL argument Llist
Descri Ytor for controller name
Controller Lletter

Descriptor for port device name

Port device name string
Channel to port device

! Make the descriptors dynamic

! Get the device name
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64 dev_desc);

i

E See if the user has OPER privilege.
iF NOT .ctl$ rocpriviprvSv_oper]
THEN 9qQ_procpriviprvev_ope

BEGIN
SIGNAL(set$_writeerr, 1, dev_desc, ss$_nooper);

°%

OO NO WSS NN = O

|
; See if logging is required.

flags[sot!v_log] = cliSpresent (XASCID 'LOG');

B
;i E Assign a channel to the device.
P 0374 IF NOT (status = SASSIGN(DEVNAM = dev_desc,
7 CHAN = chan))
1 7 THEN
g 7 BEGIN
73 SIGNAL (set$_writeerr, 1, dev_desc, .status);
7 RETURN;
3? END;

]

! If the device protection is to chango. get the protections, as well as

! perhaps a UIC to give as the device's owner. To get device grotection

! changed, we first went thru the SET PROTECTION routine, which called

! this routine with a dummy argument. So, 1% the number of actual arguments
; is 1, we know that it's really protection that should be changed.
IF

ACTUALCOUNT() EQL 1
THEN

RERNSSSEISARGR

BEGIN
LOCAL
buffer : VECT RSZOJ.
desc : VECTOR(2];
0 uic = 0; ! Initialize VUIC
0 get_prot(prot_mask, new_prot); ! Get protection masks

IR R TR A R R TR L TR AT R TR A LA A PR TR TR L L L T T D TR TR L L R L T I T I L A I I I I I I o ™™

WMWOOOOWOO””W
utstsuguwuuwuwuu

SEIRFRER2EEIIRR
(VYW P VIV TV VWV IV VLV VLV LV LV R DS LN DS LN S DN S DN DS LN DN TN LN LS DN DRIV VIV NIV N NN N T RIPT PP N NN NN N N

10 -

}1 ; If a UIC was specified, check it.

li IF (flags(set$Sv_uic) = cliSget_value(XASCID "OWNER_UIC', uic_desc))
14 THEN IF NOT parse_uic(uic_desc, uic)

15 10 THEN

19 1 BEGIN

1 1; SIGNAL (set$_invquaval, 2, vic_desc, XASCID 'OWNER_VIC');

13 1 RETURN;

1 14 END;

20 15

——— e e -y
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i Call the kernel mode routine to set the protection, and then simply
E return.

5:

arglist H
orglist = fla? | FLAGS says what to do
arglist = .ct Sgl ccbbase = .chan; ! Put CCB address here
arglist = prot_mask; ! Which class(es) to set
arglist - nou prot. ! New protections
=u ! Final owner VIC
uot (status = " $CMKRNL (ROUTIN = sotfrot
ARGLST = arglist})
THEN
BEGIN
Eﬁg NAL (set$_writeerr, 1, dev_desc, .status);
ELSE IF .flags(setSv_log]
THEN
OEGmd t(arglist t 1)
expand_prot(arglist, .ncu ro : :
ENALfgotS dOSDSQt. 6, p
.argl st
.arglistl1],
.org ist >
.arg st "
uic);
END;
RETURN;
END;

§
! Determine whether or not /[NOJDIAGNOSTIC was specified and whether it is
; setting or clearing the '‘diagnostic’’ state.
status = clitgrosent( XASCID °"DIAGNOSTIC® ); ! DIAGNOSTIC qualifier present?
IF .status NEQ cli$_absent ! 1f not absent,
THEN —_— ! then ...
flags(set$Sv_diagse E] =1; ! indicate it is present

gkags set$v_ dia J = .status; ! save its value (yes/no)

i One set of qualifiers do nothing more than set/clear bits in the
; device characteristics longword.

status = clngrcsont(!AStlo "AVAILABLE');
#aeﬁSt'tu' NEQ cli$_absent

BEGIN
flags[setSv availiotl
f&sgs set$v_avail

See what CLISPRESENT returned
If the qualifier was
c:plicitl{ aontioned

set the flag bit

saying it uas mentioned

and set the yes/no bit

.stltus.

For all you Bliss hackers out there, a more concise ual o; expressin
thcl ??vc is shown below, for the lflO]DUAL-PORT and /CNOJERROR_LOGGING
qua ers.

Page
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CE -Sep=-1984 00:50:54 AX=11 Blisg=32 Vv4.0-7 P
v8~-88¥ 2-s¢§-1334 19:09:00  YeNTOnBeRESsEtorvide 6822 %
setSv_dualset] = ( l s(setSy_duall = cliSpresent (XASC 'D AL_PORT')) NEQ cli$ );
cgs[sottv errorset] = H stsetxv error] = cl?tprcsont( VERROR LOGG!NE')? NE ﬂ.gt gtaﬁsont)

~

fla
fl
l
; If a device is to SPOOLed, then a queue name and intermediate device
i nust be acquired.
if
TH

~

flags(setSv_spooll = cliSpresent(XASCID *SPOOLED')) NEQ cli$_absent

?Eel?la stsots‘ L]
. $poo
THEN 09 e il

BEGIN
%;EzOT tran_queue(dev_desc, dev_string)

(
HEN

BEGIN
SIGNAL (set$_invquaval, 2, dev_desc, XASCID °*SPOOLED');
RETURN;

END
ELSE
BEGIN
dov doscEdscSw lengthl = .dev string[O%:
ov dosc dsc$a_pointer] = dev_stringl1

IFENOT clngct value(XASCID *SPOOLED', que_desc)
BEGIN

que descEdscSu length] = .dev_descldscSw lcn?thJ
ue —descldscSa_pointer) = .dev_desc[dsc$a_pointer];

SRR RGN 2SRV RER 2B ISIF N

£S5 VWAVASS VA SS VAW 8 85 5~ WO O O WO O O O VWAL S VIWAVAWL S 85 SS VIV SS WIWVAVAWALES 85 SN WLALANINONONININONRNOND

o T
BUSARGRSS
O
oo

ELSE
BEGIN
%5E=OT tran_queue(que_desc, que_string)

3

BEGIN
R%GNAhfsetS_invquaval. 2, que_desc, XASCID 'SPOOLED');

ELSEB c6IN
ue_descldscSw_Llength]l = .que_string[0];
§ue csc[dscSa poigtor] guo stringE 3-

AR AN SCBBIC RIS

P e e i e
S LI =0 VNV WN=0O
— i il e e i e

END;

IFENOT clngot value(XASCID 'SPOOLED', intdev_desc)
?ntdov descldscSw_Llength] = XCHARCOUNT
intdov “descldsc$a’ pointor] = UPLIT BYT

END
IF NOT (status = SASSIGN(DEVNAM = intdev _des
- CHAN = intchan))

('SYSS
EC'SYS
es

-

VIAWAIWIAA VWA AT T TAWM AT AWMIWAWAT I

AINIALRININIAINININ — —

GIN
?Ng (sets_uriteerr. 1, intdev_desc, .status);
D 0
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g 1f /NOSPOOL, then no additional information is needed.

ghsgstsotSv_nospoolJ = NOT .flags(set$v_spooll;

1t /CNOIDIAGNOSTIC was specified, th
ond is an 10$_STOP or an 10S_INfTIAL

flags(setSv_diagset]

BEGIN
%5E=OT .ctlSgq_procpriviprvSv_diagnosel

BEGIN
SIGNAL (set$_writeerr, 1,
RETURN;

R L e

IF .
HEN

END;
%aENOT .ctilSgq_procpriviprvSv_phy_iol

BEGIN
SlGNAL(sotS writeerr, 1

arglist 32
ctngl ccbbase = .chan;

arglist

argli st = port strinf

IF NOT (status = SCMKRNL( ROUTIN

= sot?otportnane.
ARGLST = arglist ))
THEN
BEGIN
SXGNAL(setS writeerr, 1, dev_desc, .status);

port doscEdscSw length) = .arglist(2];
port_descldsc$a_pointer] = port_string;

IF NOT (status = SASSIGN( DEVNAM = port_desc,
CHAN = port_chan ))

THEN
BEGIN
SIGNAL (set$_writeerr, 1, dev_desc, .status);
RETURN;
END;
ES?AN rt_func;
IF .%lggsEthSv:diaai
THEN port_func = ]10$_STOP
ELSE port_func = 108" }ult LIZE;
IF NOT (status = $QI00( CHAN = .port chan,

! Set the /NOSPOOL flag

en Locate the port device and
ALIZE, as specified by the qualificr.

dev_desc, ss$_nodiagnose);

. dev_desc, ss$_nophy_io);

BiZ ;2
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VIS W= OO0

W = O 000

1f
that does that. S

m10
ftimb R T T AR T
THEN FUNC = .port_func ))

E
1
ETURN;
N

mow»nd

GIN
?33L(sot3_uritccrr. 1, dev_desc, .status);
D;

END;
$DASSGN( CHAN = .port_chan );
END;

the bit-tuoakin? options were requested, call the subroutine
gnal any errors or successes.

fllgsEsotSv_availso ]

flagsiset$Sv_dualset
.flags(setSv_errorset]

.flags(setSv_diagset

THEN

BEGIN

arglist[0] = 2;
arglistll] = flags:;

arglist(2] = .ct($gl _ccbbase - .chan;
status = SCMKRNL (ROUTIN = setbits

ARGLST = arglistf:
IF .status NEQ 1
THEN

BEGIN
SaGNAL(sotS_uriteorr. 1, dev_desc, .status);

D
ELSE IF .flags(set$Sv_log)
THEN

BEGIN
IF .flags(setSv_availset]
THEN

BEGIN

IF .flags(set$v_availl

THEN SIGNAL (set$_devseti, g. dev_desc, XASC
ELSE SIGNAL(set$_devsetl, 2, dev_desc, XASC

END;
IF .flags(set$Sv_dualset])
THEN
BEGIN
IF .flagaisct&v duall
THEN SIGNAL (set$_devsetl, 5. dev_desc, XASCI
ELSE SIGNAL(set$_devsetl, 2, dev_desc, XASCI

FND.
IF .flags(setSv_errorset]
THEN

g 'AVAILABLE')

I
ID "NOAVAILABLE');

D 'DUAL_PORT')
D *NODUAL_PORT®);

BEGIN

IF .flags(set$Sv_error)

THEN SIGNAL (set$_devsetl, 2, dev_desc, XASCID 'ERROR_LOGGING')
Ehsg SIGNAL (set$_devset1, 2, dev_desc, XASCID "NOERROR_LOGGING');

Vé4.0-74
vxce.agz:z

e —

Pa 1
- (4)
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SETDEVICE -Sep=-1984 00:50:54 AX=11 Bliss=32 v4.0-74
V042001 12238021080 92:39:00 Felion Bsaessetorvile 8822
;. 549 644 END;
: 0 645 END;
% S
: i 663 ! If the device is to be spooled or despooled, then call the routine that
: Eg §4 ; performs those functions. Signal any errors or successes.
; IF .flags(setSv_spooll
S Sg 6i§ THEN . e
: ga 63 BEGIN
3 9 654 arglistf0] = &;
: 260 5 arglistl1]) = .ctlSgl_ccbbase = .chan; ! Put CCB address here
s 961 6 ? arglist ; = .ctlSgl_ccbbase - .intchan; ! Need the CCB of the int device
3 gbg S arglist = ?ue desc; ! Name of the queue
: 26 8653 arglist(4] = intdev_desc: ! Name of the intermediate device
: gu. P 0659 & IF NOT (status = SCMKRNL(ROUTIN = setspool
;565 0660 & ARGLST = arglist)}
: §66 0661 3 THEN
s 967 0662 & BEGIN
: 268 0663 & SIGNAL(set$S_writeerr, 1, dev_desc, .status);
: 569 0666 & END
s 570 0665 ELSE IF .flags[sotiv_log]
: N 0666 THEN SIGNAL (set$_spooled, 3, dev_desc, que_desc, intdev_desc);
: 57§ 0667 END;
: 3 0668
: 574 0669
3 3% 0670 IF .flags(set$v_nospooll
: 76 0671 THEN
3 M7 067 BEGIN
: 578 067 arglist[ﬂg =1;
: 379 0674 arglistl1] = .ctlSgl _ccbbase - .chan; ! Put CCB address here
: 580 P 0675 & IF NOT (status = SUMRRNL (ROUTIN = setnospool,
: 8 067? & ARGLST = arglist))
: .sag 0677 3 THEN
: 28 0678 & BEGIN
: 984 0679 & SIGNAL (set$_writeerr, 1, dev_desc, .status);
s 585 0680 & END '
: 586 0681 g ELSE IF .flags[sctSV,lo?J _
: 587 838; THEN SIGNAL (set$_devset1, 2, dev_desc, XASCiID "NOSPOOL');
: 588 8 END;
: 589 84
: §90 685 -
: N 0689 ! It a device is to SERVED, then serve it.
3 29§ 82 !
3 536 s %aeﬁlitprcsent(!ASClD *SERVED"')
;595 6 BEGIN ! The nowrite flag is not used so permanently set
: 9N ! set to 0. However the original code is left
: 59 9; ! 1f anyone wants to chango his bask.
: 598 9 flags[settv_nsuritol = 0; !cliSpresent(XASCID 'WRITE') EQL cli$_negated;
: 633 gg , con roller = 0;
: 601 99 ! Controller is not presently a legal qualifier but the code is left incase
3 28; 9 ! this ch?nges in the future
: ot 33 ; #5;5‘ Spresent (XASCID *CONTROLLER®)
: 605 00 : IF cliSget_value(XASCID 'CONTROLLER', cont_desc)
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THEN

IF .cont_desc [dscSu len
THEN controller = .(Tcon

:?8%332&; : tl

arglist
arglist .controller;
IF NOT (status = SCMKRNL (ROUTIN
ARGLST
THEN
BEGIN

SIGNAL(set$_writeerr, 1,
END

ELSE IF .flags(set$Sv_log]
THEN

BEGIN

SlGNAL(sotS dovset1

IF .flags(setSy nourite]
THEN SI NAL (set$ dovsot1
cont_desc dscSu longt
IF .controller NEQ

; =Sep-1
-Sop-1

gth] GEQ 1

98 12:89:8¢

AX=11 BLi 33-32
CJSETDEV

CLIVTL.SR

desc [dsc$a_pointerl]) «J,8,0>;

.ct?ggl ccbbase - .chan;

setserved.

arglist))

! Fla
i CC
! Co

dev_desc, .status);

2, _dev_desc, XASCID 'SERVED');
{ dev_desc, XASCID "NOWRITE');

Bgaddress
ntroller Lletter

THEN SIGNAL(set$ devsetZ. 3, dev_desc, XASCID 'CONTROLLER', cont_desc);

END;
END;

ETURN;
D;
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.TITLE
« IDENT

.PSECT

.ASCII

.ASCll
.LgNG

ASCII
-LONG
«AD

DRESS
+ASCII

-LONG

SETDEVICE
\V04-001\

$PLITS NOWRT ,NOEXE,?2
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S P.AAF
\QHNER gxc\<0><0><0>
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}929k7sgar\<0><o><0>
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AX=11 B =32 V
CLIUTL ETD

+ADDRESS P.AAN
«ASCII \ERROR_LOGGING\<0><0><0>

.LONG 17694733

.ASCII \;P30959\<0>
ES

.ASCII \SPOOLED\<0>

Al e

JASCII  \SPOOLED\<0>

.LONG 1?634559

.ADDRESS P.AAV

JASCII \§P°°55°\<°’

.LONG 1

.ADDRESS P.AA

ASCII \§P8°$5°\<°’

LONG 17694727

Aess M

ASCII \AVAI’ASLE\<O><O><0>

LONG 1769472

.ADDRESS P.ABC

MSCII \NO AVAilASLE\<0>

'kgggess1; Agz :

JASCII™ \DUAL PORT\<0><0><0>

LONG 17694729

-ADDRESS P.ABG

"ASCII \NODUA& PORT\<0>

-LONG T

+ADDRESS P.ABI

.ASCII™  \ERROR_LOGGING\<0><0><0>
'kggsess17623733

.ASCII™ \NOERROR_LOGGING\<0>
.LONG 17696735

-ADDRESS

JASCII ‘"°5’935“°’

.LONG 17694

-ADDRESS P.ABO

LASCII \ Eavsg\<0><0>

LONG 17694726

.ADDRESS P.ABQ

JASCII \;Env;g\<o><o>

LONG 17694726
'222??“\556257 \<0>

-LONG 17696}25

-ADDRESS P.ABU
LASCII '\ 0NTRghLER\<0><0>
«LONG_ 176947
-ADDRESS P.ABW

Ci .8%2:2
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98 18:08:0¢

+EXTRN
+EXTRN

.PSECT
+ENTRY
MOVAB

AXx=11 Bliss=-32 V
CLIUTL.SRC SETD

TRAN oueue. GET_PROT

PAR 91 EXPARD PROT

t BSCYT 0fB, CLISGET VALUE
L] PRESENT EXESALORONPAGED

EXESDEANONPAGED

scus 0Locxu SCHSIOUNLOCK
Aooumfé CTL$GQ pnocgnxv
RBSENT

; TLSGL_CTBBAS
ulxteéan. SETS
$"DEVSET2, SETS
$"INVDEV, SET
g cPNofLD, SET
$ VNOTFOR. CL‘

$ k PRESENT

£ SYSSCMRRNL
svssoxou $YSSDASSGN
$CODES,NOWRT, 2
s;ssg§¥1ce. Save R2,R3,R4,RS,R6,R7,R8,R9,~
chiget VALUE, R11

R10

'CLgs ngssri R9
[ [

§2 ;2

-NOTUQPORT
_DEVNOTSPL

(7 Talalal” 17 17 17 Tad |
< r-r-mmmms=-uv
m-—-—-—-o-c-c-«-n

conw
~—<wu

lg~471555 DEV_DESC
05639$3§ QUE_DESC
lgitgssgb UIC_DESC

li“?i 6g INTDEV_DESC
c3£6;;9g§.‘CONT DESC
lg26718§6. PORT_DESC
PORT _DESC+4
DEV UESC

CLISGET _VALUE
é STLSGO PROCPRIV+2,
-?SP)

oi SYSgASSlGN
srArus. gi

0302

0303
0351
0352
0353
0354
0355
0356
0358

0367

0375




1"
SEIogICE -feo-lons gis0ss  pmctt BUsR e 0T page 161
2y

0426 31 '3 498 ; |
0C A& 9F 00089 2%: PUSHAB P.,AAC : 0386
3 1 F 8C CALLS i, cbxspuesenr :
0C AE 01 0 F 8F INSV. RO, #0, #1, FLAGS :
1 C CMPB AP), N : 0395
¢ BEQL 3 ;
00A% CA BRY $ :
ri AD D4 000CD 38 CLRL Ul ; 8‘0
:A :o : D :3?::3 !SSr’Sﬂéx R
000000006 00 02 fB 0é CALLS #2, BET_PROT :
38 AD 3: ) PUSHAB UIC DEST : 0408
AL 9F 000E PUSHAB P,AKE ;
f 3 CALLS #2, CLISGET_VALUE :
0D AE 01 f €6 INSV' RO, #2, #1, FLAGS+ :
1 5 EC BLBC A ;
SE 2° 9F 8 F' :3?::3 VIC_DESC Ky
000000006 00 2% rg o§r§ CALLS n%.'rAnss_uxc :
09 5 00F C BLBS RO, 4$ ;
3, A4 9F Q0OFF PUSHAB P.AAG ;0412
DC A gr 18§ PUSHAB UIC_DESC ;
0140 31 001 BRY 168 ;
FF78 €D 05 DO 00108 4% MOVL  #5, ARGLIST : 0420
FF7C (D OC AE 9E 00100 MOVAB  FLAGS, ARGLIST+4 ;0421
g 6F 3§ 8113 MOVIWL CHMAN, RO : 0622
80 AD 6 50 s 116 SUBLS RO, CTLSGL_CCBBASE, ARGLIST+8 :
84 AD FA AD 9E 0011 MOVAB PROT MASK, ARGLIST+12 : 06423
88 AD F8 AD 9E 001 MOVAB  NEW_PROT, ARG&&ST*Ib t 0424
8C AD FS AD 9E 81 MOVAB UICT ARGLIST+ ;0625
FF78 CD 9F 0012A PUSHAB ARGLIST ;0627
00000000V EF 9F 0012€ PUSHAB SETPROT ;
6 F8 001 CALLS  #2, SYSSCMKRNL ;
5 00 00137 MOVL R STATgS ;
0 5 013 BLBS  STATUS, S$ ;
039F 31 001 BRW 498 ;
0 0C AE sa 140 5% BLBS  FLAGS, 6% P 0432
& 00144 RET ;
01 DD 14; 6s PUSHL M : 0435
7€ rg AD 3C 0014 MOVZWL NEW PROT, =-(SP) ;
FF7 83 f 00148 PUSHAB ARGCIST ;
000000006 00 FB 0014F CALLS  #3, EXPAND_PROT ;
FC  AD DD 001 3 PUSHL VI ;0441
7€ ’ AD 70 001 MOVQ  ARGLIST+8, =(SP) : g
7€ FF o 70 001 MOVQ  ARGLIST, =(SP) P 0637 |
EC AD 9F 001 PUSHAB oiv,uest : 04
6 0D 001 PUSHL # :
000000006 8F DD 001 PUSHL #SETS DEVPSET ;
65 8 §2 } ge%ts #8, LIBSSIGNAL P
48 A4 9F 00171 7%: PUSHAB P,AAl : 0450
3 1 FB8 00174 CALLS #i, CLISPRESENT ;
g 00 00177 MOVL RO srnrui ;
A ? 17A CMPL TATUS, R10 : 0451
o A 0 88 00\1F B1SH2  #16, FLAGSH P 0454
0D AE 01 0 sg FO 00183 INSV  STAfus, #5, m, FLAGS* : 8425




F 11
SETDEVICE 16=Sep=1 :50:54 AX=11 Bliss=32 V&.0=74 Page 17
V04601 19-800-1080 99:39:36  HeNTIN BiAessEtoreideTess. % &
SC A4 9F 00189 8%: PUSHAB P, AAK : 0461
g FB8 0018¢C CALLS 03. c#xsrnessnr :
00 0018F MOVL RO, § ATU? :
A ¢ ? } s gg:t 31Arus. R10 : 0462
0C A 88 001 BISB2 #2, FLAGS : 0465
0C AE 0 0 £0 001 INSV  STATUS, #2, #1, FLAGS : 06
6 " ERER™ i oML iseresent g "
0C AE 01 4 0 rs 1:3 INSV ngi #6, M, FLAGS :
1 D& 001AD CLRL 4 :
SA g; 1AF CMPL ns R10 :
) 135 gBeaL 10§ :
os 1 INCL  RI :
0C AE 01 03 1 FO 00186 108:  INSV  R1, #3, #1, FLAGS ; :
0088 (& 9F 0018 PUSHAB P.AAO Y 0474
sg 1 rs 1€ CALLS #1, CLISPRESENT :
0C A€ 01 0 FO0 001C INSV' RO, #6, #1, FLAGS ;
1 04 001¢C CLRL  RI ;
SA 01 001CB (MPL RO, R10 :
2 13 001¢C BeaL 11§ :
08 10 INCL R1 $
0C AE 01 05 51 F0 001D2 118:  INSV  R1, #5, #1, FLAGS ;
0098 C4& 9F 001D PUSHAB P.AAQ : 0480
66 1 rs 010¢C CALLS #1, CLISPRESENT ;
0C AE 01 gr F0 001DF INSV' RO, #7, #1, FLAGS ;
A D1 0153 (MPL RO, R10 ;
0 1; 01E BNEG 12§ :
008 3 01EA BRW 218 ;
0c A§ S 001ED 128:  T1STB FgAGS 0483
03 19 001F BLSS 13 :
009¢C 31 81r BRW 20s :
A8 AD OF Q01FS 138:  PUSHAB DEV_STRING 0486
EC AD 9F 001F8 PUSHAB DEVDESC ;
000000006 00 gs rg 1f CALLS  #2, TRAN_QUEUE ;
et 8BRS USHAS #oRas’Y : 0489
EC AD 9F 00 PUSHAB DEV_DESC ;
3A 11 0020C BRB 16$ ;
EC  AD AB AD 98B 148:  MOVZBW DEV_STRING, DEV_DESC P 0494
FO AD A9 AD 9E 0021 MOVAB  DEV™STRING+1, DEV_DESC+4 : 0495
0068 o OF 00518 PUSIAB PoRRD:> Ko
83 ég F f CALLS 03. skiiﬁﬁl-VALUE :
C P ; BLBS RO, :
€4 AD 53 AD B MOVW  DEV_DESC. QUE_DESC : 0500
E8 AD FO AD A MOVL VTDESC+4, QOE_DESC+4 : 0501
2C f BRB 3 t 0497
98 AD 9F 1 158:  PUSHAB QUE_STRING : 0505
E4 AD OF PUSHAB QUE "DESC ;
000000006 ?g g rs 7 CALLS  #2, TRAN_QUEUE ;
00¢8 (4 §r i Bte Sl ¢ 0508
4 Ag F 0004 PUSHAB QUE_DESC ;
00771324 gr Db 005en 16%:  PUSHL  #$8s03690 5
0299 g? 50 BRY szg ; |




SEIOEYIcE -deeeione Qgiggise  yaeetd Butsen v 0onp

E4 AD 33 AD 98 178:  MOVIBW QUE srnxne. QUE_DESC
E8 AD AD ; MOVAB ou; STRI N601 QDE_DESC+4
D4 AD 188:  PUSHAB ESC
00D8 (& OF PUSHAB AAV
83 £ CALLS ‘SGET VALUE
A £ 7 BLBS
04 AD A MOVW INTDEV_DESC
D8 AD 00E0 ;E E f R gfxsa AaA. INTBEV_DESC+4
0C AE 3r ;3 PUSHAB xurcnm
D& AD OF PUSHAB INTDEV DESC
000000006 gg g& f § CALLS  #4, SYSSASSIGN
) MOVL RO, STA gs
08 3 £ BLBS srﬂrus. s
q PUSHL TUS
% . AD §f PUSHAB ;nroev DESC
0253 31 s BRW 18
50 0C AE 1 27 EF 208 EXTZV  #7, M1, FLAGS., RO
0 8 os 297 MCOML n ao
0D AE 01 00 50 Ya INSV g Ass+1
03 0D AE 04 §o 0 Ag 218: 8BS c& rLAssoi
00A4 31 002A BRW 306
07 000000006 00 ge §o 02A8 228:  BBS srLsso PROCPRIV, 23%
E 2834 ; 15 8 gg ggxzut 0162 2, =(5P)
08 000000006 00 §6 0 00287 238:  BBS 06 STLSGG PROCPRIV+2, 258
7€ 2884 8F 3C 002BF MOVZWL -(8P)
021A 31 002C4 s&s: BRW
FF78 €D 03 go 02C7 258:  MOVL ARGbISt
0 25 g 02cC MOVZWL An
FF7C €D 67 €3 002CF SUBL3 g trLssL CCBBASE. ARGLIST+4
80 AD 14 00 00205 MmovL  #20, ARGLIST+8
846 AD AE 9E 00209 MOVAB  PORf sraxns. ARGLIST+12
FF €D 9F 002D PUSHAB Aas 1ST
00000000V Sr 9F 002€ PUSHAB TGETPORTNAHE
ga FB 002 CALLS SVSSCHKRNL
2 g D £B MOVL
4A £9 E% BLBC sritus
7C  AE og AD BO 002F MOVW AasLxsfo PORT ESC
0080 CE 68 AE 9E 002F6 MOVAB  PORT _STRING, Pout _DESC+4
7E 7€ 002FC CLRQ  -(SPY
12 AE 9F 002FE PUSHAB PORT CHAN
008 E 9F 00301 PUSHAB PORT
000000006 & 5 CALLS  #4, SYSSASSIGN
) C MOVL RO, ga
E f BLBC Stlrus $
05 00 As E1 1; BBC #5, FLAGS+1, 268
5 g? 1 MOVL  #3, PORT_F
1A BRB 27$
50 & D0 0031C 393: MOVL  #4, PORT_FUNC
E 7C 0031F 278: CLRG  =($P)
7€ ¢ 1 CLRQ  =(SP)
7€ ¢ CLRQ  =(SP)
7€ ¢ CLRQ  =(SP)
78 04 CLRL  =(SP)
S0 DD 9 PUSHL  PORT_FUNC
7€ 30 AE 3C 8 MOVZWL PORT™CHAN, =(SP)
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7€ D4 CLRL  =(SP) :
000000006 f CALLS 013. SYS$QI0W :
) MOVL RO STAng :
019 28$: gkss zsérus. $ :
7 08 AE 35C 00341 298:  MOVIWL PORT CHAN, =(SP) ¢ 0595
000000006 o§ ? f 4 CALLS o?. SYSSDASSGN :

12 C A F 4§ 308 BBS ., FLAGS, 31% : 0604
D C AE P 8BS #3. FLAGS. 31$ : 0605
g C AE E 6 BBS #5. FLAGS. 1; :

D AE A s BBS #4, FLAGS+1, 318 : 060
00 3 BRW 428 :
FF78  CD 02 00 318 MOVL  #2, ARGLIST : 0610
FF7C g 0C AE 9E MOVAB  FLAGS, ARGLIST+4 : 0611
25 g ?g MOVZWL CHAN, RO : 0612
80 AD 4 SUBLS RO, CTLSGL_CCBBASE, ARGLIST+8 :
FF?8 D 9F 00376 PUSHAB ARGLIST ;0614
00000000V EF 7A PUSHAB SETBITS ;
gg rs sg CALLS #2, SYSSCMKRNL :
D MOVL RO, STATUS :
01 D1 gg CMPL TATUS, M : 0615
gf 13 BEQL 28 :
2 30 gg PUSHL  STATUS : 0618
EC AD OF PUSHAB DEV_DESC ;
1 0D PUSHL @ :
000000006 8F 0D 0039 PUSHL cs;rs_unxreenn ;
B 11 0039 BRB 41 :
S 0C AE E9 0039A 323 BLBC  FLAGS, : 0620
19 0C AE 1 E1 0039 BBC #1, FLAGS, 35% : 0623
0C AE 2 51 A BB( #2. FLAGS. : 06 g
00F4 C& OF PUSHAB P.ABB : 06
4 11 003AC BRB 348 :
0108 C4& 9F 003A gss: PUSHAB P.ABD : 0628
EC AD 9F 00382 348:  PUSHAB DEV_DESC ;
23 0D 0038 PUSHL # ;
0D 0038 PUSHL R ;
65 & FB 00389 CALLS  #4, LIBSSIGNAL ;
19 0C AE 3 E1 003BC 358:  BBC #3. FLAGS, 38 : 06 g
06 0C AE 4 51 C1 B8B( #4. FLAGS. 36$ : 06
011¢ C4& 9F 003Cé PUSHAB P, ABF : 06
4 11 003CA BRB 378 ;
0130 C4 3: C ggs: PUSHAB P.ABH : 0635
EC AD OF $:  PUSHAB DEV_DESC ;
00 003D PUSHL # ;
65 P8 00%0 CALLS 8¢, LIBSSIGNA :
19 gc AE 5 e? DA 388:  BBC #5. FLAGS, &3% : 0637
€ AE f 51 DF BB( go FLAGS, 39% : 0640
0148 F 003E4 PUSHAB P.ABJ : 0641
& 11 003E8 BRB 40$ :
0160 C4& 9F OO3EA 29:: PUSHAB P.ABL ;0642
EC 9F 003EE 408: S DEV_DESC ;
00 003F PUSHL # :
&5 4 ?o : 413 ngfk 54 LIBSSIGNAL -
0cC Ai gg F8 42%: TSTE  FLAGS : 0651
6 FB BGEQ  44$ ;
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FF78 0 °8 F MOVL  #4, ARGLIST : 0654
g "°v5 CTLSGL gcaanse. RO : 0655
i § MOVZWL CHAN, R :
FF7C €D ? g susk R1, RO, Aa§Lxsto4 :
06 A § MOV !L INFCHAN, R : 0656
80 AD 0 5 SUBLS R1, RO, ARGLIST+8 :
34 AD E4¢ AD 9E 0041 MOVAB oug DESC, ARGLIST+12 : 0657
8 M 0 3 08l ROVAR,  ANTDEY DESC. ARGLIST+16 : 0830
ooooooosv FOF 5 PUSHAB § TSPOO& :
f 8 CALLS  #2, SYSSCMKRNL ;
) § MOVL R srarug :
1 E BLBS  STATUS, 438 :
30 PUSHL  STATUS : 0663
EC AD OF PUSHAB DEV_DESC ;
1 0D PUSHL #1 :
000000006 8F DD PUSHL #SETS WRITEERR :
5 & F & CALLS #4, LIBSSIGNAL F
18 1 44 BRB 46$ : 0659
14 OC AE E9 00446 43%:  BLBC  FLAGS, 44$ : 0665
Dk AD 9F 0044A PUSHAB INTDEV DESC : 0666
E4¢ AD 9F 0044D PUSHAB QUE_DESC :
EC Ag 9F 0045 PUSHAB o§v_oesc ;
g 0D 0045 PUSHL # ;
000000006 8F DD 0045 PUSHL #SETS_SPOOLED ;
65 05 FR 00458 CALLS # LrassI;NAL :
42 00 AE E SE 448:  BLBC F%KGSO1. 473 : oerg
FF78 (D 01 DO 0046 MOVL & Aashxst : 067
59 65 § MOVIWL CHAN, R ;0674
FF7C  CD 6 § 3 A SUBLS RO, CTLSGL_CCBBASE, ARGLIST+4 ;
FF78 (D 9F 00470 PUSHAB ARGLIST P 0676
00000000V EF 9F 00474 PUSHAB SETNOSPOOL :
68 FB 0047A CALLS #2, SYSSCMKRNL ;
52 D 8470 MOVL R srAtug ;
oF €8 004 BLBS  STATUS, 45% ;
§2 0D 84 PUSHL  STATUS : 0679
EC AD 9F 004 PUSHAB o;v,ossc ;
1 0D PUSHL # :
000000006 ; g A sggnL zg;rs,unxreean :
OE gc Ai 9 00492 458: BLBC  FLAGS, 47% 0681
0170 C& 9F PUSHAB P.ABN : 0682
EC AD 9F 0049A PUSHAB DEV_DESC ;
0D 30 PUSHL # ;
DD 0049F PUSHL R ;
65 FB 004A1 &9:: CALLS  #4, LIBSSIGNAL :
0180 C4 9F 004A4 47$:  PUSHAB P.ABP : 0688
86 1 rg A8 CALLS i, ctlsrnes£n1 ;
1 0 §‘ ‘:g gg?s RO, &8$ :
0D AE A Q04AF 488:  BICB2 #8, FLAGS#! : 0693
D4 0048 CLRL CgNTROLLER : 994
FF78 €D 0 0048 MOVL  #3, ARGLIST : 0705
FF7C 0C AE 9E 004BA MOVAB  FLAGS, ARGLIST+4 : 07
4C MOVIWL CHAN, R : 07
80 AD & t3 004C SUBLS RO, CTLSGL_CCBBASE, ARGLIST+8 ;
8¢ AD ) ¢ MOVL  CONTROLLER; ARGLISF+12 : 0708
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FE78  CD 9F Q04C PUSHAB ARGLIST : 0711

ooooooosv P gr 4D0- PUSHAB SET ERVED :

g FB 004D CALLS  #2, SYSSCMKRNL :

00 004D Movi RO, STATYS :

1 £8 004DC BLBS  STATUS, 538 :
B0 QocoF 98:  PUSHL stArgs ;0714

EC AD 9F 004E1 gs: PUSHAB  DEV_DESC :

1 0D Q04E4 518:  PUSHL # :

000000006 8F DD 004E6 PUSHL WSETS_WRITEERR :

5 & FB Q04EC 528 CALLS  #4, LIBSSIGNAL :
04 004EF RET : 0710
40 g5 AE E9 4FQ 538 BLBC  FLAGS, 55% : 0717
01 C4 9F 004F PUSHAB P.ABR : 0720

EC AD 9F 004F8 PUSHAB DEV_DESC :

0D 004FB PUSHL # :

0D 004FD PUSHL R :

65 4 FB Q04FF CALLS  #¢, LIBSSIGNAL :
OE 0D AE 3 €1 028; BB( #3, FLAGS+1, 54 : 3751
01A0 ¢4 9F 00 PUSHAB P.ABT : 0722

EC AD 9F 00508 PUSHAB DEV_DESC :

gs DD 850 PUSHL # :

0D 0051 PUSHL R :

65 04 FB 0051 CALLS  #4, LIBSSIGNAL :
0084 CE g1 B0 00515 S48:  MOVW  #1. CONT DESC : 0723
3 DS 0051A TSTL ggNTROLLER : 0724

16 13 0051¢C BEQL $ ;
084 CE 9F 0515 PUSHAB CONT DESC : 0725

186 C4& 9F 005 PUSHAB P.ABY :

EC AD 9F 00526 PUSHAB  DEV_DESC :

DD 00529 PUSHL # :

000000006 8F DD 00528 PUSHL  #SETS_DEVSET2 :

5 5 FB 00531 CALLS  #5, LIBSSIGNAL :
04 00534 558:  RET : 0730

; Routine Size: 1333 bytes, Routine Base: $CODES + 0000
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CLIUTL.S
1 ROUTINE setbits (flags, ccb) =

BEGIN
lee
! Functional description
This is the kernel mode routine to set bits in the UCB. Based on

the bit settings of the F%A?s longword, the device database is
modified to show the specified characteristics.

i Inputs
- options longword
i Outputs
None. The device database is modified.

i
i
i
|
:
; FLAGS
|
|
: It an error is detected, an appropriate error status is returned.

flags : REF $BBLOCK,
ccb : REF $BBLOCK:;

BIND
ucb = .ccblccbSl_ucbl : $BBLOCK,
char_= ucb Ecbsl devcharl] : $BBLOCK
char2 = ucblucb$T_devchar2) : $BBLOCK;

First some sanity checks. If /[NOJAVAILABLE, the device must be a
dismounted disk. For /[NOJDUAL_PORT, the device must be a disk, and for
/NODUAL, the disk must be dismounted

- - b -

IF .flags(setSv_availset] ! 1t /[NOJAVAILABLE
?aeﬁflags set$v_dualset ! or /[NOJDUAL_PORT

BEGIN

IF .ucblucb$b_devclass] NEQU dc$_disk
THEN RETURN set$_invdev;

IF .char(dev$v _mnt]) ! disk must be dismounted
Eﬁ%" RETURN ss$_devnotdism;

! device must be disk

]
; Set the bits as appropriate.

IF .flaas[settv_dualsct]
THEN BEGIN
charldevSy_dual = .flagsttqttg_dual]-
= chardldevsV_clu) = .flags(set$yV_duall;

IF .flags(set$Sv_availset)
THEN chgr devSv_avl]) = .flags(set$v_availl;

F .flagsisetSv_errorset
: g = ,flags(setSv_errorl;

|
THEN thar devSv_elg
If ﬁ' agslset$v diagset]

32
ET

V4.0=74
DEVICE.B32;2
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: 7 BEGIN

: 695 7 ucbl cbsx_onlinol = NOT .fla s[s;tsv disgl:
3 ¢ I4 char(dev$v_avl] = NOT .flags{set$v_dTagl;

: 69 791 END;

: 698 79§

3 999 79 RETURN 1;

: 700 794 END;

°°°8 ogoo SETBITS:.WORD Save R2,R3 : 0731
51 BC 3 000 MOVL gcca Ri : 8755
53 Al 00 MOVAB S6(R), R2 : 0756
5 046 AC DO 0000A MOVL r%ncs RO : 0764
ga 60 81 E ooos BBS #1, (RO), 1% :
1 60 3 51 001 BBC (RO) . 4$ : 0765
01 40 Ag 1; 88}2 1% ggge :ia1). i . 0768
50 000000006 gr 32 8315 =g¥u #SETS_INVDEV, RO ;0769
06 6 13 E1 00024 2%: BBC #9, (R2), 38 : 0770
5 2184 BF E 88 g =g¥zuL #8628, RO ;0771
15 60 03 E1 00026 3% BBC #3, (RO), 48 ;0777
53 60 01 04 EF 000 EXTZV  #4. #1, (RO), R3 ;0779
eg 01 OF 53 F0 000 INSV R3. M5, #1, (R2) :
5 60 01 04 EF 0003¢C EXTZV  #4. #1, (RO), R : 0780
3¢ Al 01 00 53 FO 00041 INSV R3. #0° #1, 80(R1) :
0A 60 01 E1 00047 4$: BB(C M. (RO, §s : 078
53 60 01 o; EF 0004 EXTZVv  #2. #1, (RO), R3 : 078
62 01 12 53 FO 0005 INSV R3. m8, m., (R2) :
0A 60 05 E1 00055 S5%: BBC #5. (ROS, 66 ;0784
£ 60 01 gg EF 00059 EXTZV  #6. #1, (RO), R3 : 0785
62 01 16 FO oos§ INSV  R3. #22, M1, (R2) ;
14 01 A0 04 E1 00063 68: BBC 8. 1RO, ?s : 0786
50 01 A0 21 gs EF 00068 EXTZV  #5. M, 1(RO), RO : 0789
0 0 D oogg MCOML RO, RO ;
64 Al 01 04 50 FO 000 INSV RO, #&, #1, 100(R1) :
62 01 12 50 FO 00077 INSV RO, m8, #1., (R2) : 07
50 01 30 8oorc 78: MOVL #1. RO : 079
& 0007F RET ;0794

; Routine Size: 128 bytes, Routine Base: SCODES + 0535
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3 § 795 1 ROUTINE setspool (ccb, intccb, que_desc, int_desc) =

3 I BEGIN

I ( 7

: 705 7 144

: ;0 79 ; Functional description

: ;88 §° ; This is the kernel mode routine to make a device spooled.

: 710 80 ! Inputs

s ™ 804 ! CCB = address of the device's channel control block

3 ;15 05 ! INTCCB - address of the ntoraediate device's C(CB

s 1 89 ' QUE_DESC - descriptor for the queue name

3 ;}g 80 ; INT_DESC = descriptor for the name of the intermediate device

: M6 8803 ! Outputs

: N7 310 ! None. The device database is modified.

: ;}g 8}1 ; If an error is detected, an appropriate error status is returned.
s 720 081§ lecee

: 72 0814

: 7 § 0815 MAP

3 ¢ 0819 cch : REF $8BLOC

;724 081 intcch : REF sas 6cx

s 725 0818 ue_desc : REF saaLotx.

: 7%6 8819 nt_desc : REF $BBLOCK;

s 127 820

: 728 0821 BIND

: 7§9 08 g ucb = .ccblccbSl_ucbl) : SBBLOCK

s 7350 08 char = ucblucbsL” ovcharJ sasLocx

: 7;1 0824 int_ucb = .intcch ucbl : $BBLOCK

: 7 g ﬂg 5 int_char = int_ucb ucb I dovshar : taéLOCK.

: ;g‘ lii; int_veb = .int_ucblucb$L vcb $BBLOCK;

: 735 828 2 LOCAL

: 7;6 D829 status;

: %7 mgo

3 7%8 0831

;s 7%9 )8 g !

: ;:? ;g g Lock the 1/0 database for write access.

: T4 )835 sch$iolockw(.ctlSgl_pcb);

P Ted 83 5 |

: T4S g ! Make sheﬁts to insure that the device is the right kind of device,

: 746 ! that $ not assigned to sonc other process, and that the intermediate
: ;2; 84? devicc is a file-oriented disk.

P 749

: 750 i lF .ucb(rcﬁtb devclass) NEQU dc$ _term ! Device must be either a
: ™ 4 .ucblucb$b do;class] NEQU dcS_Lp ! terminal or printer

: 72; S THEN status = sct !v

: 7 ? ELSE IF .charl o¥ v_spl

: 754 THEN status = cl ¥ isn ! Can't be already spooled
: 135 8 LSE IF .ucbtucbsu rote eo "

7 19 3 LISH TN CarieReniEldl (og | Eotetmediats dond.toult s
2 .in ov v !

; 758 S? OR NOT .int_charldev$v_rnd 'a ’le-ortontod ds
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00 0o 0D 00 00
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VIS WIN = OO0 00

874

EN stat¥s = ss$ notfilcdo!
SE_IF nt,chartde;iv,dni ! Intermediate device must be
NOT .int_char(devSv_mnt ! mounted

EN status = ss$_devnotmount;

If the devices meet all the criteria, then try to allocate a chunk
of non-paged pool to put information about the queue. If the
allocation request is not successful, indicate an error.

status EQL 1

x=.
m
=

L
block : REF $BBLOCK,

tatus = exeSalononpaged(irp$c_Llength; size, block);
F NOT .status
HEN status = ss$_insfmem
LSE
BEGIN

Move the gueue's name into the block of non-paged pool, and put the
address of the block into the UCB.

status = 1; ! Put in return status = success
ucblucb$l _veb] = .block; ! Put block's address in UCB

blockEvcb!u size) = .size; ! $etv8ueuo block's size
@

s
1
T
E

. o
block[vcbSb_type) = dyn$c_vcb; ! Say it's B (pseudo)
blocklvcb$b_status] = .quo_dos&[dsciv_longth]:

CHSMOVE (.que_descldscSw_Llength
.que_desc dscta,pointori.
blockCvcbSw_transl);

Now {ggglo the intermeciate and spooled device UCB's to reflect this change.

]
i
! Specifically, the intermediate device's reference count and transaction count
! are incremented, the intermediate device UCB is stored in the spooled device
; UCB, and the spooled device's spool bit is set.
int_ucblucbSw_refc) = .int_ucblucbSw_refcl ¢+ 1;
int vcblvcbSw_trans] = .int_vcblvcbSw_trans] + 1i
ucbtfcb L_amb] = int_uch; ! Store intdev UCB
char devtv_sp&] =1; ! Set it spooled
gagtuchL_pid = 0; ! Clear owner field

Unlock the 1/0 database, set the IPL to 0, and return whatever
! status.

sch$iounlock(.ctl$gl_pcb);
set_ipl(0);

RETURN .status;
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816 0909 1 END;

OFFC 00000 SETSPOOL:

WORD Save R as R4 ,RS,R6,R7,R8,R9,R10,R11 ; 0795
gA 000000006 oo 9€ 000 MOVAB crLscL ﬁ ri0 : y
7 4 00 000 MOVL  9CCB : 0822
g 8 sc D 0 MOVL gsnrtca. R6 : 0824
& A6 D 8 11 MOVL (R6), RS ; 83 g
4 6A D 15 MOVL  CTLSGL PCB, R4 : 08
000000006 00 18 0018 JSB SCH$I0COCKW :
59 01 3 001€ MOVL  #1, ;TATUS : 084
42 BF 40 ¢3 1; ogg 1 3?5? ?gca ), #66 : 084
43 BF 40 3; ?; 883 § Sggf ?:(n7>. #67 t 0844
59 000000006 ; gg §88 g Eggt ;gers INVDEV, STATUS : 0845
09 38 A7 06 E1 ooga 13 BBC #6, S6(R7), 2% : 0846
59 000000006 8F DO 03 D MOVL  #CLIS_DEVALSPL, STATUS ;0847
2C 11 00044 BRB 78 :
01 SC A7 81 00046 2% CMPW  92(R7), M : 0848
07 13 0004A BEQL 3% ;
59 0848 8F 3C 0004C MOVZWL 15120 STATUS : 0849
1F 11 80051 BRB 7 :
05 39  Ab 06 E1 00053 3%: BB( #6, S7(R6), 43 : 0850
07 3B Ab 4 §o 00058 BBS ¥4, S9(R6) . ss : 0851
59 01CC  8F 1g ooggg 4$: gg;zUL ac&o. STATUS : 0852
05 A A6 o§ EO 88064 58: BBS o S8(R6), 63 : 0853
04 A A 0 so 00069 BBS 58(R6) . 7% : 0854
59 7¢ 8F O9A 3809 93: MOVZBL ;124 STATUS : 0855
01 59 D1 00072 7%: CMPL 3 ATUS, M : 0862
46 12 807 BNEQ s ;
51 C4 B8F O9A 87 MOVZBL : 0869
000000006 1 78 JSB sxssALouonpAeeo ;
59 00 00081 MOVL s ;
27 8 BLBS srirus : 0870
9 0124 B8F 3¢ 7 MOVZIWL #292, §1Atus : 087
59 T 20 0008¢ s BOSL 41, STATUS i 087
34 A7 g 0 i MOVL aLéc 52 (R7) : 373
8 A g 33 MOVWW  SIZE, 8(BLOCK) : 0880
0A A 1 MOVB 01 1 (BLOCK) : 0881
5 oc A 9 MOVL : 0882
83 A 6 Al MOVB <a 5 :
0C A2 $& B 3 AS MOVC3 ca a4(a * 12(BLOCK) ; 8332
5C Ag 86 000AB INCW  92(Ré) : 089
OC A8 B A INCW  12(R8) : 0894
?8 A7 ge g 8 MOVL R 8 R7) : 0895
A7 40 BF 85 BISB2 #64, S6(R? : 889?
2C A7 D BA CLRL  &4(R7) : 089
4 8A ?2 58 9s: MOVL CTLSGL PCB : 0905
000000006 00 C JSB SCHS100NLO t :
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; Routine Size:
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: 13 91? 1 ROUTINE setnospool (ccb) =

: B 91 BEGIN

3 0 91;

: 1 91 144

: i 3}2 ; Functional description

: g g 3}9 ; This is the kernel mode routine to unspool a device.

: B ? §913 ! Inputs

: g 8 0810 ; ccB = address of the device's channel control block

3 B 89 ) ! Outputs

: 0 9 i ! None. The device database is modified.

F 8 1 83 ' 5 It an error is detected, an appropriate error status is returned.

: 8 g 89 5 lowme

: 8 9 ?

: ggg 83 8 b : REF $BBLOCK

3 cchb : :

: B83%7 0929

: 838 0930 BIND

: 839 89 1 ucb = .ccblccbSl_ucbl : $BBLOCK,

3 gz? 03 § char = ucblucb$l_devcharl] : $BBLOCK;

3 84; 09%6 LOCAL

: 84 0935 int_ucb : REF $BBLOCK,

;. B44 09;6 int_vcb : REF $BBLOCK,

: 845 0937 status;

: 846 0938

: B47 0939

: 848 0940 !

: 849 0941 ! Lock the 1/0 database for write access.

: 850 094 !

: 851 094 sch$iolockw(.ctlSgl_pch);

3 85; 0944

: 85 0945 !

: 854 0946 ! Make checks to insure that the device is the spooled, and that the reference
3 ggs ngz ; count is correct (i.e., no one else has assigned a channel to it).

: 859 §969 status = 1; ! Assume everything's wonderful
; 858 950 IF NOT .char(devSv_spl]

: 859 0951 THEN status = clis,dovnots?l ! Must be spooled

: 860 95; ELSE IF .ucblucb$Sw_refc] GIR 1 ! If the refcount is greater than
: 1 95 ! one that means that there is a
: i 954 ! file open in which case the i
: 955 ! device cannot be despooled

3 95? THEN status = ss$_devassign ! Can't be assigned to anyone
: 5 95 ELSE

: 39 5

: 960 ! It the device Looks good, mark it as being no Longer spooled, and

: 3 821 : reduce the reference count by one.

: ;1 322 sﬁsl?d 3 L 0 ! Device is not spooled

3 char(dev$v_s =0; ! Dev

: 7§ 965 ucb[ucb!u,re?c = ,ucblucbSw_refc] - 1; ! Decrement the ref count

~
»
g
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: 875 7 !
: ; E Deallocate the chunk of pool that holds the queue name.
i
: 7 exe$deanonpaged(.ucblucb$l _vecbl); ! Return queue block to pool
: : ; ucbfuchl,ecg! = 8: o ! Clear pgingcr to qucuopblock
: 88 7% %
: ai 75 ! Decrement the transaction count of the intermediate device, since we're no
: lgg ;g ; longer spooling to it.
; 78 . int_ucb = .ucblucb$l_ambl; ! Locate intermediate device's
: 4 int_vcb = .int_ucb gcbtl vebl; ! UCB and V(B.
: 33 o8¢ int_vcblvcbSw_trans) = .Tnt_vcblvcbSw_trans) -1;
: 890 §9 '
: N 9 i ! Clear the pointer to the intermediate device, since the soon-to-be-
: 89 89 ! despooled device no longer needs it. Also put the address of the
: g‘ 3 S ; intermediate device into the channel control block.
;895 898 ccblceb$l_ucb) = .int_uch;
3 39? 983 ucblucb$l_amb] = 0;
: 89 98 END;
: 898 990
: 899 991 !
: 900 995 ! Unlock the 1/0 database, set the IPL to 0, and return whatever
: 381 99 ; status. .
g 38‘ S i::t:or?éggk(.ctngl_pcb):
P 905 0997 WO
s 90? 0998 RETURN .status;
: 90 0999 1 END;
OFFC 00000 SETNOSPOOL :
.WORD Save R2,R3,R4 ,RS5,R6,R7,R8,R9,R10,R11 : 0910
ga 000000006 00 9 oogs MOVAB  CTLSGL_PCB. RS :
6 04 88 D 80 MOVL aCCcB, Ré : 0931
54 D MOVL  CTLSGL_PCB, Ré : 0943
000000006 ? 1 1 JSB ssHSIOEOCKH 3
57 D 1 MOVL AP gTATUS : 0949
09 38 A? 6 E 1 8BS #6, S6(R6), 18 : 0950
57 000000006 8F D 1 MOVL cguxs_oevuérspt. STATUS : 0951
& 1 BRB :
01 5C [ 1 1%: (MPW (R6), M : 0952
B BLEQU 3
57 0848 ; % gagZUL g 120, STATUS : 0956
38 A6 40 8F B8A 2%: BICB2 #64, S6(R6) : 0964
C A6 B7 9 DECW g (ﬁz) : 995
O 000000366 00 3¢ 4§ DOB"  Z5ESOLANGNPAGED § ™
& A6 D& 0004 CLRL §z<n6) P 0972




; Routine Size:

107 bytes,

51 60 A6 D0 00049

50 34 09 00040

0c 87 00051

06 BC D0 4
000000006 ?2
8 DA
5 0

& A

Routine Base:

16-3ep-1984
- . -
1‘-503'19

$CODES + 0682

50:54 AX=11 Bliss=32 v4.0-74
09:04 CLIUTL.SRCISETDEVICE.B32;2

96(R6), INT UCB
§2CINT uca). INT_VCB
12C(INTSVCB)

NT 2 cB, acce

c?fg GL_PCB

ssus ?g Ex

20, #

STATUS, RO

Page ‘30
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1 ROUTINE setprot (flags, ccb, mask, prot, uic) =
BEGIN

;EEE%

H 1

? 1

: 91; 1 ee

: 3}‘ } ; Functional description

; 315 1 ! This is the kernel mode routine to set bits in the UCB. Based on
3 1? 1 : the bit settings of the FLAGS longword, ‘h. device database is
; 3} } g : modified to show the specified characteristics.

: 913 1010 ¢ | Inputs

: 3 ? } }] ; FLAGS = options longword

: 9 § 1 1§ i Qutputs

: 9 1014 ' None. The device database is modified.

. 3 g }8}5 ; If an error is detected, an appropriate error status is returned.
;926 181? [P

i 358 1013 % mp

;929 1020 flags : REF $BBLOCK,

B 1021 ccb : REF $BBLOCK

: M 10 ; prot : REF VECTORL,WORD],

: 9 g 10 mask : REF VECTORL,WORD],

: 9 1024 uic : REF VECTOR;

i 938 195§ s1wo

: 936 1027 ucb = .ccblccbSl_ucb) : $BBLOCK,

: 937 1028 orb = .ucblucb$l_orb] : $BBLOCK,

: 938 1029 char = ucblucb$l_devchar] : $BBLOCK;

1% S P

E 941 10 ; temp_prot : WORD;

2B

; 322 }8?2 g Check that the device is not file-oriented.

: 9‘9 10;7 IF .charldevSv_fod)

: 9% 1038 THEN RETURN set$_invdev;

- 5 |

: 950 1821 i If the device is unowned and there is no ACL present, require SYSPRV to
; 321 } ; ; change the ACL.

;953 106k 2

s 954 1045 IF .orbtorbtt_ouncr] EQL 0

: 955 1 9 AND (IF .orblorbS$v acl_quego]

: 329 } s grgg i?rbtorb!l_ clfl) EQLA orblorb$t_aclfl])

; 958 1 AND NOT .$BBLOCK Cctl$gl_pcblpcb$q_priv], prvSv_sysprv]

: 323 1050 THEN RETURN ssS_nopriv? P s - o

P 961 108 .

; ggi } ég % Set the new protection. Then return the full device protection.
;964 1055 ¢ if .orbCorbSv_prot_16

: 965 1056 THEN tenp_profps .orbiorbiu,prot]




e

SEFXELIAA

VIS AN = OO0 00~

S8

— D e ol o B il ) e o el ) D i i) il o
VIS N = OO0

AL AL A TR T R I T A L I A T PR TR TR A T T

VIV

ek e o e

W 12
bt i H S ot e 1 S A
BEGIN

temp_prot<0,4> = ,(orblorbSl_sys_prot])<0,4>;
temp_prot< 4> = .(orb orbsl oun —prot])< a>:
temp prot(? &> = .(orb protl)< 6>.
tonp prot< 2.4> =", (orb orbtf uor prot])<6

orbtsrglu proti = ( tenp grot AND NOT .mask[0]) OR (.prot[0] AND .mask[0]);
pro{ .orb o grof
orblorbSv_prot_16

ELSE

f If no UIC was given, then take this process UIC as the owner.
B o U RRr ), agt pch. pebSl_wted

ui ¢ ¢ uicl;
orblorb$l_ownerl) = ,ui cfai ol ’ .

RETURN 1;
END;

003¢ SETPROT:.WORD  Save R2,R3,R4,RS
55 000000006 00 95 MOVAB CTLSGL ﬁca. RS
51 08 BC D MOVL ag
50 1C AT DO 0 MOVL  28(R 1) ao
08 39 Al 6 E1 1 BBC #6 57in1)
50 000000006 8F 32 g =g¥L NSETS_ 1uvoév. RO
60 D 18: TSTL  (RO)
1C 1 BNEG 3§
0A 0B A0 01 s BB( . 11(RO), 28
51 53 A0 9E MOVAB  40(R0), R1
51 A0 D1 CMPL  40(RO). R1
o0 1 BNEG  3$
51 S D 2 MOVL CTL’Gk PCB, R1
04 0087 (1 & E BBS #4, 135(R15, 38
50 4 3& =g¥L 038, RO
9 og A 59 3s BLBC 11<n8). 4
g 18 A 5 MOVAB %&(n ). R2
6 ? MOVW R2), TEMP_PROT
18 11 BRB $
ss 18 A0 9 4 MOVAB  24(R0O), R2
62 F INSV R2), #0, #4, TEMP PROT
4 18 A0 F INSV (RO), #4, #4, TEMP_PROT
8 5 AO F INSV (RO) . ng #4. TEMP PROT
§ & AD F INSV (RO), #12, #&, TEMP_PROT
5 ;c 58 MOVZWL TEMP pﬁot. R3
4 0C ?2 ¢ MOVIWL @MASR, R4
3 A BIC R4, RS
1 10 B8C 3¢ MOVIWL aPROT, R1
4 0c 92 5 MOVIWL @MASK
4 ) MCOML R4, R

D ) o

AR LA LA TR TR TR L S R s s E E E I I ™ ™




e e il

382288‘CE. é 12-388-1382 92:09:38 el oaessEtorvi%e etz Page &

1 CA C Ré, R1 ;
62 21 3 A gisbi a§ R1 (a;) :
10 8 3 g MOVW  (R2) Qrao ' 1065
0B A gIse2 a1, {1 a?; 1066
5 06 AC D A MOVL rbls R : 1071
09 01 Al 02 E 8BS #2, 1(R1), 6 .
51 65 D MOVL grkss% PCB, R1 ;1072
14 °8 00BC C1 D MOVL 88(R1Y, aUIC ;
2 14 sc D 9C 68: MOVL aglc (RO) : 107
0 10 A MOVL #1, RO ' 107
04 000A RET : 1076

; Routine Size: 164 bytes, Routine Base: SCODES + 06ED
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ROUTINE setserved (flags, ccb, letter) =
BEGIN

-~
~N NN

00O

1o
; Functional description

— OV~

This is the kernel mode routine to serve a device.

(elelclelelelelelelele]
zg\ﬂgw

Inputs
’ FLAGS - options longword
cCB =« address of the device's channel control block
8 3 LETTER = controller Lletter
890 Outputs
9 None. The device database is modified.

It an error is detected, an appropriate error status is returned.

22

=
O

VIS AN =

333

P
cchb : REF $BBLOCK
flags : REF $BBLOCK;

BIND
ucb = .ccblccb$l_ucb) : $BBLOCK,
char = ucb rcbtl devchar] : SBBLOCKC‘

SESSRE82838883388

QO
0
o

SR2838

char2 = ucblucb$T_devchar2) : $BBLO

cddb = .ucb Ecbtl cgdbl : $BBLOCK,

p_cddb =.ucblucb$T_2p_cddb] : $BBLOCK;
LOCAL

status,

statl,
stat2;

ORI = b b b o h d b e d
NOWVS NN =OOVO®NO WS N =O

|
5 First check to see if the device can be served

status = 0;
IF ((.uchucDSD,dovclasiJ eqlu dc$_disk) and t 1f all of these conditions

NN

N
500

(.ucblucb$b_devtype]l] nequ dt$_rx01) and ! then ok so far

(.ucblucb$b_devtype] nequ dt$_rx02) and

=l=lelelalelelelelelelelelelelell-l-TT-T-T-T T T ]

(.ucblucbSb devtype]l nequ dt$ rx04) and
(.chargtdov!v_srzs nogu g))'
; THEN status = 1;
IF .status
5 THEN
039 IF _ .char[devSv_mnt] eqlu 1 ! If the device is mounted
0;3 '“E“BEGIN ! then it must be cluster
8 9 status = .char2(devSv_clul; ! accessible to be served.
é;o"O' .status THEN RETURN ss$_devnotdism;

I T PR L T TR R A TR TR TR PR PR P PR PR LA TR LR TR LA LA LR LA LA LA L T T T e e e e e I T L A L L L LI L I
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V04001 16-sep-198¢ 19:08:0¢  Felalm sReSsdfolvili ekaso it}
4

: } g }} g stat! = stat2 = 0;

5 1 9 " 9 IF  .status ! 1f ok so far then check rest
s 1 1" ! of conditions

: 1 3 1 s IF _.char2(devSv_mscp)

: 1 1 THEN

¢ 1083 N i Rantl & ot lotttin sutrifias] A sscotin st aith

3 statl = ¢ w_cntr s mscpSm_cf _mlths;

; 1052 1142 %;eﬁcharitdoviv-ng . . P

: 1054 1144 stat2 = .p_cddblcddbSw_cntrlflgs) AND mscp$m_cf_mlths;

3 1%55 1145 IF (.statl ORp.stat ) NEQU 8 ¢ ' 1t ghe'abivc conditions are
s 1 5? 114? THEN ! true then cannot serve device
R e e

5 1059 1148 IF NOT .status ! If not a valid device to serve
: 1060 1150 THEN ! return with invalid device

: }821 }}g1 RETURN set$_invdev; ! status. Else continue.

g }82% }}g% g Lock the 1/0 database for write access.

: 1065 1155 2 schSiolockw(.ctlSgl _pcb);

2 B R

§ }823 }}gg g Call the routine to set the specified characteristics.

: 1070 1160 2 status = mscpSaddunit(.ccblccb$L_ucb), .flagsCsetSv_nowritel, .letter);

g ne g

% }8;5 }}g% g Unlock the 1/0 database, set IPL back to 0, and return whatever status.

: 1075 1165 2 sch$iounlock(.ctl$gl_pcb);

: 1078 1166 2 set_ipl(0);

: }8;. }}gg %;Eﬁstatus EQLU ss$_devoffline

% }8;8 }}93 LSERE?UR“ set$_mscpnotld

: 1081 171 RETURN .status;

: 1082 1172 :

OFFC 00000 SETSERVED:
.WORD

Save R2,R3,R4.RS,R6,R7,R8,R9,.R10,R11 : 1077
57 ooooooogs 00 9E 000 MOVAB CTLSGL PCB. R7 ;
gs 08 BC D 8 MOVL  aC(B, RS ;1101
% 8333 S 0 MOVL  188(RS), R2 P 1104
B C g D 1 MOVL  192(R5). R1 : 1105
2 8‘ 1 CLRL STAT¥S : 111;
01 40 AS 91 00019 CMPB  64(RS), M P
1A 1; 10 BNEQ 1; :
10 41 AS 9 1f CMPB ? (RS), M6 P18
1% 1 BEQL g ;
08 41 AS 9 8 CMPB 9 (RS), M P19
0E 1 BEQL § ;




12
-Sep- :50:54 AX=11 Bliss=32 Vv4.0-74 Page
V04601 }§-§:3-1332 09:89:3¢  FeXiot CiiescdtreideTess. @
0cC 41 AS 9 8 CMPB ?S(RS). "2 : 1120
LR T e
. 1 3533 21 STATUS ' 1122
i t gl wE el : 18
A AS , , i 11
56 3C 2§ ’ 1 2 e; 2; E{{ﬁ' gTiT';: ggcn ), STATUS i
3 2184  BF gc 4A MOVZWL ooezg. R :
b4 00050 28:  CLRL  STAT : 113
35 D 80053 At SAH i
2 53 E? 805# akgc ggATusiRS) 4 ‘1138
- - é’ 28 22 §c 2 MOVZWL &oinS) STAT1 ;1141
8 8 6 BICL2 #-5, STATH :
B T— 3' e 4 63<n5) $ P 1142
- - 22 28 A? 52 88; nosIUL l.oianf stir% ;1144
53 FFFFFFFB gr CA 000 § BICL c;sizs 352 § o
50 3 cg 0077 3$ BISL E‘A . :
gz 14 38;@ gfgt STATUS P 1147
08 sg ga 0007€ 4$: BLBS  STATUS, 6$ ; }}gg
50 000000006 8F DO 00081 5$: MOVL  #SETS_INVDEV, RO :
7 33 8833 68: 555L CTLSGL PCB, Ré4 : 1155
o 3 008C JSB SCHS10COCKW :
ooooooggs Ag 33 ooog PUSHL LETTER : 1160
7€ 01 A0 3? " §§ 29 83839 "3¥%v Eéfeii,“?<go), -(SP) E
3 ?D 8832: cnff% #3, MSCPSADDUNIT ,
_——— g 3 0A8 MOVL RO, STATUS :
3% 69 go 80As MOVL  CTLSGL PCB, R4 : 1165
” 000000006 03 32 8835 ‘§ga ; ns£1 NLOCK : }}29
00000084 33 26 D1 00087 ERES ;;Atus. 32 :
8‘ 15 008 MOVL  #SETS MSCPNOTLD, RO : 17
50 000000006 8F 34 385 HoV _ :
0 000C8 7$: MOVL  STATUS. RO o
- " 34 000C8 RET 1172

; Routine Size: 204 bytes, Routine Base: $SCODES + 0791




LT
1 - - 4 s - - U=
V04=001 - 10-3ep-1986 1%:08:3 Ml BuAessdtorvile etz
1 ggg}%n€ setgetportname ( ccb, length, string ) =

led :
! Functional description:

This routine uses the UCB stored in the input CCB to locate a PDT and
finall¥ 2l eort device UC3. The port device UCB address is fed to
IOCSCVT_DEVNAM to build a device name string suitable for use in a
channel assignment. Several consistancy checks are made along the way
and if any of them fails and error status is returned.

Inputs:

3232232332225

]
g Only MSCP devices can be connected to a U/Q port.

IF NOT .char2(devSv_mscp) THEN RETURN set$_notugport;

]
; Now, a decent contents for UCBSL_PDT has been assured.

— ) ) ) e ) el el ) D el D ) e ) e ) el e D D D D D el il D D e e D D D D D D D D) D D ) ) D D D e D D D e D e D) i D o e

V0O NN = O O OO N 8~ LN = OO 00 NOM N S LN =2 O O 00 N O VNV 85 N =2 © 0 00 NOM VP 8~ LN = O O 00 N NS N

i
1
1
1
1
1
1
1
1
1
}
098 1 cCB Channel Control Block address
099 1 LENGTH maximum device name strin? length
eginning address for device name string
}8? } STRING beginni dd for d i
}8; } Outputs:
104 1 LENGTH actual length of device name string
105 1 +STRING device name string
193 } "
108 1 MAP
109 1 ccb : REF $BBLOCK
110 1 Length : REF vecténf 1, WORD )
”1 2 string : REF VECTORC 20, BYTE §;
11; L INKAGE
114 DEVNAM = JSB ( REGISTER = 0, ! RO = Llength of name buffer
115 REGISTER = 1, ! R1 = address of name buffer
116 REGISTER = &, ! R4 = conversion type flag
117 REGISTER = 5; ! RS = UCB address
}}g REGISTER = 1 ); ! R1 = device name length
120 2 EXTERNAL ROUTINE
} 1 focScvt_devnam : DEVNAM; ! Convert UCB to device name
1 g BIND
124 uch = .ccbticbtl ucb] : SggLOCK
}25 char2 = ucbCucb$T_devchar2) : $BBLOCK;
1 ? LOCAL
128 status;
129
130
} 1
138
1
135
1
}
13
140

— il i) il el il Sl el il D il il il D i ) D D el D D il el D D D D D ) D D D D D D D D D D D D D D D D ) ) D ) e D D D D D el
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RS

—d e o D el D D e D D D e D D e cd B D ) el 3
— D D D e D D D D D D D D B S D D D D D D b

OO"O*WVWVIWVIWAVWVIVIWIWANES SS SN SN ES S N 0
N =2 O O 00 N NS NN = OO 00 NOMN S AN =

D D e e D ) e D ) ) e D sl ) e D el ) el e D

N

= OV NO WS AN = OO N NS I = O

ALAL AL AL AT AT ETE TR IR A TR PR LA TR PR P DN T T T T I

VNS SO NSS S

D

N 12
19-3e0-1980 99:99:8¢  YeMild.BudassEtore;

p=1

BIND
dt = .ucblucb$l_pdt]) : $BBLOCK
gort_ucb = .pdttigtSL_ucbsg : $BBLOCK;

1F .pdtlpdtSb_pdt_typel NEQ pdt$c
OR .gortpucb?ugbss_zgvclass]pNEn agg,bus
THEN RETORN set$_notugport;

! Lock the 1/0 database for write access, convert the UCB address to
! a device name, and release the 1/0 database.

schsiolocku(.ctlsgl nxg):

status = JOCSCVT_DEVUNAM( .length, .string, O, gort ucb; length );
IF .status EQL sS$_bufferovf THEN status = set$_notugport;
sch$iounlock(.ctlSgl_pchb);

set_ipl(0);

RETURN .status;
1 END;

.EXTRN 10CSCVT_DEVNAM
OFFC 00000 SETGETPORTNAME :

.WORD Save R2
57 8oooooooe 8F DO 00002 MOVL  #SETS NOTUGPO
§6 000000006 00 9E 00009 MOVAB CTLSGC PCB, Ré
50 04 ag 00 00010 MOVL  accB, RO
3¢ AQ 05 E1 00014 BB( #5, 60(RO), 18
50 0084 €O DO 00019 MOVL 1 g(RO). ag
&5 00D €O go 001 MOVL ;z (RO). R
02 07 A0 91 000 CMPB (RO), #2
07 12 000 BNEQ 1§
80 B&F 40 AS ?1 00 CMPB SL(RS). #1128
2& 00 . BEQL $
50 7 32 §o 1% =g¥L R7. RO
54 6 DO § 28 MOVL  CTLSGL PCB, R4
000000006 00 16 00037 JSB SCH$10COCKW
4 94 88 CLRL  Ré
50 33 AC 70 f MOV@  LENGTH, RO
000000006 g 16 00 43 JSB xgcscvf DEVNAM
55 D 4 MOVL ~ RO, STATUS
08 AC D 4 MOVL  R1. LENGTH
00000601  8F i ? 5525 g;&rus. 537
gs o§ 9 MOVL  R?, STATUS
4 D C 3 MOVL  CTLSGL PCB, R4
000000006 14 f JSB ssusxggutotx
18 DA 23 MTPR 40, #
5 30 MOVL  STATUS, RO
& 00068 RET

gizﬁiz:z

R3,R4 ,R5,R6,R7 ,R8,R9,R10,R11
RT, R7

—_————

o 38

173

b e b e
WL —
AN N

1236
1237
1242
1243

1244
1245

1246
£
125
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; Routine Size:

108 bytes,

Routine Base:

$CODES + 085D
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2V
SETDEV E 852 ;2 an

13
SETOEvICE [6-gep-198 00:50:5  yAIL BLiss-2 v
: 1188 383 E%0n

+EXTRN LIBSSIGNAL
PSECT SUMMARY

: Name Bytes Attributes
i SPLITS t.s NOVEC.NOWRT, RD ,NOEXE,NOSHR, LCL, REL, CON,NOPIC,ALIGN (%
: S$CODES 2249 NOVEC,NOWRT, RD . EXE.NOSHR. LCL. REL. CON.NOPIC.ALIGN(2)

Library Statistics

f e U G el e TS L = SYSROLS esusanee Pages Processing

: File Total Loaded Percent Mapped Time

i _$2558DUA28:[SYSLIBILIB.L32;1 18619 98 0 1000 00:01.9

3 COMMAND QUALIFIERS

3 BLISS/CHECK=(FIELD,INITIAL,OPTIMIZE)/LIS=LISS:SETDEVICE/OBJ=0BJS:SETDEVICE MSRCS:SETDEVICE/UPDATE=(ENHS:SETDEVICE)

Run Time

Elopsed Tinc 02:4

Lines/CPU Min:

LoxonesICPU-Hin 203 2
{ Used: 0 pages

Compilation Conplete

Size: 2249 code + 448 data bytes
oo§1
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